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DoHIBbI OLEHOYHBIX CPEACTB JJI NPOBEPKU KAMKA0M KOMIETCHIMH,
¢popmupyemoil AMCUNILIUHON

Yuebnas oucyuniuna: Hnocmpanmwlit a3vik
Kommerenmuu:

YK-4 CnocoGeH OCyHIeCTBIATh JEIOBYI0 KOMMYHHMKALIMIO B YCTHOM M NHCbMEHHOH (opmax Ha
rocyIapcTBEHHOM si3blke Poccuiickoit denepanun 1 HHOCTPaHHOM (bIX) sI3bIKE (ax)

DOoHbI OLCHOYHBIX CPEACTB /ISl MPOBEPKHU KAKIAO0N KOMIIETCHIMH,
(popmupyemoii AMCUNILIIUHON

Yuebnas oucyunnuna. Hnocmpanunwlii A3v1k
Komnerenuuu:

YK-4 CrocoGeH OCyIIeCTBIATh JEIOBYI0O KOMMYHHKAIIMIO B YCTHOM W MUCBMEHHOW Qopmax Ha
rocyapcTBeHHOM si3blke Poccuiickoit @enepanuiv 1 HHOCTpaHHOM (BIX) A3BIKE (aX)
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Komnerenuus

1

Fill in the gaps with missed words about job interview

1. Tell us something about your ...... in the advertising
agency?

2. | see from your ....... form that you have had three different
jobs in the last 5 years.

3. What sort of ....... of time would you stay with us if we
offered you the job?

4. Describe how you would describe ....... in five years' time

5. Give us some idea of what you believe are your ....... and
weaknesses.

1-
2-
3-
4-

background
application
period
yourself
strengths

YK-4

Match each adjective on the left with its Russian
equivalent. There are two extra you do not need.
1 | ultimate A OTJINYNTEIbHBINA
unobtrusive OKOHYATEIIbHBIN
comprehensive
accurate

embarrassing
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YK-4

Match two parts of the sentences.

1. Power, in its broadest sense, is the ability to achieve a
desired outcome, and it

2. Power is usually

3. This distinction coincides with the division between a public
sphere of life and

4. Government can therefore

5. One more and even broader conception of politics moves it
to what is

A thought of as the ability to influence the behaviour of others.
B thought of as “public life” or “public affairs”.

C what can be thought of as a private sphere.

D be seen as one of the institutions involved in governance.

E is sometimes referred to in terms of the “power to” do
something.

YK-4




4 Match the verb on the left with the proper noun. There | 1-D VK-4

two extra you do not need. 2-A

1]to A the importance 3-F
influence 4-B

2 | to stress B the problem 5-E
3 | to measure | C the imposition
4 | to solve D the behaviour
5 | to generate | E the feedback

F the success

G the impact

5 Fill in the gaps with a suitable preposition 1-in VK-4
The advertisement is necessary nowadays (1) the | 2-of
conditions of free economic market and concurrence. There | 3- for
are a lot (2) companies and firms, which are not very | 4-about
different in their production or service. The production is the | 5— of
same, the concurrence is increasing, and that is why the
advertisement is important (3)___ a company to stand out
against other firms. Besides the advertisement is the means so
inform people (4)___ new products ox services of a
company. There are different types (5)__ the advertisement.

6 XI1. Define the terms according to the definitions 1-  Advertising VK-4
1.The business of creating and placing advertisements is ... 2-  Advertising copy
2 A text of an advertisement is... 3-  Advertising
3.A company that handles advertising and sales promotions for agency
clients is... 4-  AIDA
4 A word made up of the first letter of the steps to successful 5-  Advertising budget
communication in marketing: get Attention, hold Interest,
arouse Desire, and obtain Action is....

5. The amount of money a company plans to spend in
developing its advertising and buying media time and space
is...

7 .Fill in the gaps with suitable phrase 1-placed an advert VK-4
influences, placed an advert, run new ads, responded to an | 2- responded to an advert
advert ,scanned adverts 3- scanned adverts
1. She in the local newspaper to sell her table. 4- influences
2. More than 40 people for the position of office | 5- run new ads
manager.

3. Marry in hope of finding work as a hairdresser.
4. Advertising our society tremendously.

5. Companies campaign when they launch a new
product.

9 Translate from Russian into English 1. The company also | VK-4
1. Kommanus Takke CHH3WIa LeHbI, 4TOObl moBBICHTH | reduced its prices to extend
4uTabeILHOCTB. readability.

2. OnHa U3 3a7a4 peKjamMbl — MO3HAKOMHTE Jifojiel ¢ HoBbiM | 2. One of the tasks of
MPOYKTOM. advertising is to get people
3. PeklaMupOBaTh YCIAYTH M TOBAPHI OYEHB BAXKHO. acquainted with a new
4. lens pexiaMbl — YOEAUTH ayAUTOPHIO COBEPINUTD MOKyNKy | product. 3. To advertise
TOBAPOB MJIU YCIIYT. services and goods is very
5. Pexiama omoraet npoiaBaTh TOBApPHI. important.

4. The aim of advertising is

to persuade an audience to

purchase some goods or

services.

5. Advertising helps to sell

goods.

10 Fill in the gaps with a missed part in the text 1- A specific public | YK-4

relations project or
- the organization receives feedback from its public campaign may be

undertaking proactively or




- A specific public relations project or campaign may be
undertaking proactively or reactively

- such as press conferences or special events

- as well as the constraints under which the campaign will
operate

- the organization is sure to outline its strategies and tactics

We know effective public relations to require a knowledge,
based on analysis and understanding, of all the factors
influencing public attitudes toward the organization.
Q) The first basic step involves analysis and research
to identify all the relevant factors of the situation. In this first
step, the organization is expected to gain an understanding of
its various constituencies and the key factors that are
influencing their perceptions of the organization.

In the second step, the organization needs an overall policy to
be established with respect to the campaign. This involves
defining goals and desired outcomes, (2) It is
necessary to establish such policy guidelines in order to
evaluate proposed strategies and tactics as well as the overall
success of the campaign.

In step three, (3) . Using its knowledge of the target
audiences and its own established policies, the organization
develops specific programs to achieve the desired objectives.
Step four involves actual communication with the targeted
public. The organization then employs specific public relations
techniques, (4) , to reach the intended audience.

Finally, in step five (5) . How have they reacted to the
public relations campaign? Are there some unexpected
developments? In the final step, the organization assesses the
program and makes any necessary adjustments.

reactively.

2- as well as the constraints
under which the campaign
will operate.

3- the organization is sure
to outline its strategies and
tactics

4- such as press conferences
or special events

5- the organization receives
feedback from its public

11 Write terms for these the definitions 1. Communication .... VK-4
1 ...is the process of giving information or of making | 2. Public Relations...
emotions or ideas known to someone. 3. Press release. ..
4. Public interest...
2 ... is the activity of creating a good opinion among people | 5. Public image is ...
about a person, product, company, or institution.
3 ...is an official statement or report that an organization gives
to journalists, for example about a new product or an
important achievement.
4...1s the fact that people in general are interested in
something.
5... iS....... the opinion that people have about how good or
how bad someone or something.
12 Replace the underlined expressions with alternative | 1-point of purchase/ point | VK-4

expressions

These days, there are a lot of (1) shop advertising displays .
As you walk down the street you can easily see the (2)
advertising in the windows. These are designed to tempt you
into the shop.

When you go into a supermarket, the first POP you will
probably see is the (3) advertising at the bottom of the
basket.

For special events, like in store promotions, there may be(4)
large printed adverts or (5) displays at the end of the aisles.

of sale

2- window displays
3- basket liner

4- banners
5-gondollas




13 Rewrite the highlighted parts of sentences correctly 1-enjoy VK-4
2- Will our team win?
1.Many people are enjoying spending time on the beach on | 3- will start
holiday 4-1 usually buy
2. How is the match going? Does our team win? 5-Is he listening
3.0ur washing machine is starting when you press this button.
4. 1 am usually buying a special ticket each week for the bus
because it’s cheaper.
5.Does he listen to the radio, or is that the TV | can hear?
14 Match each noun on the left with its synonym. There are 1-E VK-4
two extra you do not need 2-A
1 | aspect A approval 3-B
2 | support B research 4-F
3 | survey C disagreement 5-C
4 | validation D maintenance
5 | dispute E feature
F confirmation
G approach
15 Fill in the gaps with a word or phrase that best completes | 1- competitive VK-4
the sentence. 2- attract
1. In order to survive in this business you must adopt a .... | 3- persuades
Stance. 4- product
2. When you are setting out to..... new customers in an | 5- comparison
advertisement, choose the right words.
3. The really effective television commercial is the one that
....you of its authenticity
4. 1 can strongly recommend this .....as the best available on
the market today.
5. In order to make a sensible .....among the different vacuum
cleaners available, it is important to do some research.
16 Only one of the expressions in italics is correct. Cross out | 1. Politics; VK-4
the WRONG one. 2. An election;
1. Politicians / Politics are all the same. They never do what | 3. Opponents, control;
they say they will. 4. Co- operative;
2. | think there should be an election / a referendum on | 5. Periods;
important issues so the Government knows what the people
think.
3. It is easy for the opposition / opponents to make promises
but it is much harder to carry them out once they get into
power / control.
4. No party had a clear majority. Two parties have formed a
co-operative / coalition.
5. No American President can serve more than two four-year
terms / periods in office.
17 Use the word given on the right to form a word which fits | 1. solving VK-4
in the gap 2. depends
Much of what people do is 3. usage
1) problems their decision. | 1. to solve 4. complete
Often when then face a problem 5. comfort
their decision (2) __ upon their | 2. to depend 6. responding
previous experience.
But the (3) of a decision that | 3. to use
seemed to work before does not
always help (4) __ anew task. 4. completion
If you don’t get out of your
(5)___ zone while (6)___to | 5. comfortable
challenges, you won’t learn | 6. to respond
anything.




18 Put the phrases of the letter in the correct order 1,54,2,3,6,8,7,9,10 VK-4

1. Dear Mr. Smith,

2. | left school three years ago and since then | have had
several jobs in tourism and marketing.

3. For the past six months | have been working for Go-Places
Agency.

4. 1 am twenty years old. | was born in Spain, but my family
moved to England when | was twelve and | have lived here
ever since.

5. 1 would like to apply for the job of temporary manager
which I have seen advertised on your website.

6. The manager has said that he is willing to give me a
reference.

7 1 have also been learning German since | left school, so |
speak some German too.

8. | speak Spanish and English fluently.

9. Yours sincerely, Marianna Lopez.

10. I hope you will consider my application.

19 Fill in the gaps in the sentences with the words given | 1. retail outlets, VK-4
below: 2. purchaser,
be shortlisted, convention, retail outlets, launched, purchaser, | 3. launched,
eye catching, am determined 4. am determined

5. convention
1. Most of their sales are through traditional .
2. The cost is burned by the _ of the property.
3. This story was ____ for the Pulitzer Prize.

4.1 to make it as a jazz musician.
5. She rebelled against and refused to marry.
20 Put the words in the right order Put the words in the right | VK-4
order
1. What think fair trade so you far the do of ?
2. you Have to been Wimbledon ever ? 1. What do you think of the
3. stay Are to whole you the planning week ? fair trade so far?
4 Chicago the at weather in the is moment How ? 2. Have you ever been to
5. Do in countries fairs are different you think other? Wimbledon?

3 Are you planning to stay
the whole week?

4 How is the weather in
Chicago at the moment?

5. Do you think in other
countries fairs are different?

Kpurtepumn (1xaJjibl) OHeHUBAHUS KOMIIETEHIIMH U YPOBHH €€ (P)OPMHPOBAHUSA:

[TpoBepka kauecTBa OCBOCHMS OCHOBHBIX 0Opa30BaTENIbHBIX MPOrpaMM BBICIIEro 0Opa3oBaHUs
OCYIIECTBIISIETCS B (OpME TEKYIIEro KOHTPOJSl YCIEBAEMOCTH W NPOMEXKYTOYHOW aTTeCTalluu IO
uToram cemecrpa. LleasiMu yCTHOrO M IMCBMEHHOIO BUJOB KOHTPOJIS SIBJIIETCS IIPOBEPKA YPOBHS
BJIQJICHUSA M3yYEHHOrO0 MaTepHajia, a TakXke YpoBHS C(HOPMHUPOBAHHOCTH YMEHUHW U HAaBBIKOB
pa3IMYHBIX BUJOB SI3bIKOBOM EATEIBHOCTH.

Texymuil KOHTPOJIb MOXET MPOXOIUTh B (hopme ompoca/Oecesibl, MUCbMEHHON KOHTPOJIbHOMN
paboThl, aHANT3a MPE3EeHTALUN, TIPOBEPKH 3CCE, KOMIBIOTEPHOI'O TECTUPOBAHMS.

OrneHka 3HaHUN CTYJEHTOB OCYIIECTBIISIETCS B Oallax ¢ y4eToM:

- OIIEHKM 3a paboTy B cemecTpe (OLIEHKH KOHTPOJBHBIX pabOT, BBHIMOJIHEHUS JIOMAIIHUX
3aJJaHU{, aKTUBHOCTU Pa0OThI CTYAECHTOB Ha 3aHATHUAX U Ip.);

- OIICHKH TIOJyYEHHBIX 3HAHUH B X0/1€ 3a4€Ta/IK3aMeHa.




Pe3ynbTarhl TEKyIero KOHTpOJIS M MPOMEKYTOUHOH aTTeCTallMM CTYJEHTOB OLIEHMBAIOTCS I10
100-6amutbHOM CHCTEME B COOTBETCTBHUH C OA/NIBHO-PEUTHHTOBON ccTeMOi DUHYHHBEPCHUTETA.

Pe3ynbrarel OCBOEGHMS CTYJAEHTAaMU 3HAHMM, YMEHHUM M KOMIIETCHLMM, NPEAyCMOTPEHHBIX
pabouelt mporpaMMoil AUCIUIUTMHBI «IHOCTpaHHBIN S3BIK», OIEHUBAIOTCS MAKCUMAJIbHON CyMMOW B
100 GaynoB. bannbHast OLEHKA TEKYIIET0 KOHTPOJIS YCIIEBAEMOCTH CTYACHTA OYHON (hOpMBI 00yueHUs
B ceMmecTpe cocraBisier MakcumyM 40 OamioB (MakcumyM 20 6amuioB — Hpu MOJABEICHUHM HTOTOB
TEKYILET0 KOHTPOJIS YCIIEBAEMOCTH B ceperHe cemectpa (Ha 15 HostOpst u 15 anpens) u makcumym 20
0aJJI0B — MpPH MOJIBEICHUN UTOTOB TEKYIIEr0 KOHTPOJIS YCIIeBaeMOCTH B KOHIIE cemecTpa). bamnbHas
OLIEHKA B 3a4€THO-IK3aMEHALIMOHHYIO CECCHIO COCTABISET MaKCUMyM 60 GaioB.

Ne Bun oruetHoCcTH bamiel

/11

1 ammecmayusl 8 cepeoune cemecmpa 0-20
ammecmayusl 8 KOHYe cemecmpa 0-20

2 [TpomexyTouHas aTTecTanus - 3auem (IK3amen) 0-60
Hroro: 0-100

ATTecTalMOHHAas OIICHKA CKJIa/IbIBACTCA HAa OCHOBE OIEHOK 32 BBIMOJHEHUE JOMAIIHUX 3aJaHui
U OLIEHKU paboThI CTyJ€HTA MpernojaBaTesieM B aTTeCTallMOHHBIN nepuoA. [Ipu BeicTaBIeHNN JaHHON
OIICHKH YYHUTHIBACTCSI AKTUBHOCTD CTY/ICHTA BO BPEMsI ayJTUTOPHBIX 3aHATUHN, BBHITIOJIHEHUE UM 3aJaHUI
JUTSL CAMOCTOSITEIbHON pabOTHI M pe3yNbTaThl cOOeCe0BaHMI 110 MaTepHally MPAaKTUYECKUX 3a/1aHuH.
JlonyckaeTcsi  BBICTaBJIECHHE CTYZICHTY 3auera 1o nucuurinHe  «MHOCTpaHHBIN  SI3BIK
HA OCHOBAaHUHU BBICOKUX pe3yibTaToB (He MeHee 35 OamioB u3 40) TeKyllero KOHTPOJs 3HaHUU 0e3
IIPOBEJICHUS OIIpOCca Ha 3a4eTe.

Oowan cymma 6annoe Ouenka
Menee 51 HEY/I0BJIETBOPUTEIIHLHO
51-69 YIIOBIIETBOPUTEIHHO
70-85 XOpOIIO
86-100 OTJINYHO
51-100 3a4TEHO
Menee 51 HE 3a4TCHO
Tpeobosanusn k pe3ynomamam 0C60eHUA OUCUUNTUHbBL IK3amen
OLIeHKa «OTJIMYHOY» BBICTABIISIETCS CTYJCHTY npy HATMYUKU86- (OTINYHO

100 6annoB peHTHHIOBOM LIKANbI, €CJIM OH TITYOOKO M MTPOYHO YCBOWI
MPOrpaMMHBIN MaTepHall, TOHUMaeT 00bEMHBIE CIIOKHbBIE TEKCTHI 110
M3y4eHHON TeMaTHKe, THOKO 1 3((EKTUBHO UCTIONB3YET A3bIK IS
OOIIEHMSI B CUTYallUsIX HAYYHOTO U IPO(eCCUOHATIBHOTO XapaKTepa,
MO>KET CO3aTh TOYHOE, XOPOIIIO BBICTPOCHHOE COOOIIEHHE Ha OBITOBBIE U
npodeccuoHabHbIe TeMBI. B peun gomyckaer 1-2 nekcudeckue ommoKH,
HE 3aTpyIHSIOIIKE TOHUMAaHue, U He 0oJiee IBYX

rpaMMaTHYECKUX OIINOOK.




O1eHKa «XOPOII0» BHICTABISIETCS CTYACHTY NPH HAINYNU

70-85 0amioB peUTHHTOBOH IIKAJIBI, €CJIH OH TBEPIO

3HAET MaTepuall, IOHUMAET CO/IEPKAHNE TEKCTOB Ha H3y4YEHHBIC TEMBI,
TOBOPUT JIOCTATOYHO OBICTPO M ¢cBOOOIHO 63 0COOBIX 3aTPyJHEHUH,
YMEeT JieTaTh YETKHE U MOIPOOHBIE COOOMICHNUS M U3JI0KUTH CBOU B3I
Ha OCHOBHYIO Mpobnemy. B peun nonyckaer 1-2 nekcuyeckue u 3-4
rpaMMaTHYeCKHe OIMOKH, HE 3aTPYAHSIONINE OOLICHHE.

Xopomuio

O1ieHKa «y/I0BJIETBOPUTEIHHOY» BBICTABISAETCS CTYACHTY IIpH Hasinuuu S0-
69 6aJTOB PEUTUHTOBOM IIKAJIBI, €CJIM OH UMEET 3HAHUS TOJIBKO
OCHOBHOT'O MaTepuasa, IOHUMAeT TOJIbKO OCHOBHbBIE UJIEH TEKCTOB Ha
Mpo¢eCCUOHATBHBIC TEMBI, MOYKET COCTABUTh CBSI3HOE COOOIICHHE 110
MPOIIEHHON TeMaTHKE, UCIIBITHIBACT 3aTPYIHEHHS C TIOAOOPOM CIIOB H
BBIPOKCHUI TEPMHUHOJIOTHYECKOTO XapakTepa. B peun gomyckaer 3-4
IMEKCHUYECKUX U JI0 8 TpaMMaTHYE€CKUX OLITHOOK.

Y 10BIETBOPUTEILHO

OreHKa «HEYIOBICTBOPUTEIIBHO» BBICTABIISICTCS CTYCHTY IIPH HATUYHN
MeHee 50 0annoB pedTHHToBOM miKaibl. CTyIEHT HE 3HAST 3HAUUTEIHHON
YacTH MPOrPaMMHOTO MaTepuaia, He IOHUMAET OCHOBHBIC HJICH TEKCTOB
Ha po¢eCCHOHATIbHBIE TEMBI, B CUTYAIUSIX MPO(ECcCHOHAIBHOTO
OOIIEHUSI MOKET Y4acTBOBATh B HECIIOKHOM Pa3roBOpPE, €CIM cOOECeTHUK
TOBOPUT MEJUICHHO U OTYETIIMBO, IMEET OTPAaHUYCHHBIN 3arac, II0Xo
BJIa/IEET TEPMUHOJIOTUEHN, HOITyCKaeT 4 IeKcuuecKux u oosee 8
rpaMMaTHYECKUX OIMUOOK, 3aTPYHSAIONUX KOMMYHHKAIIHIO.

HeynosnersopurensHo

Tpeﬁoeauuﬂ K péesyilomamam 0C60€HUA ducuunﬂunbt

3auém

«3a4TeHO) BBICTABIIAETCS CTYJAEHTY OT 51 OayljIoB pEHTUHIOBON LIKAJIbI
(3HaHUA YJOBIETBOPSIOT TPEOOBAHUAM OLIEHOK «OTIUMYHOY, «XOPOILOY,
«YZIOBJIETBOPUTEIHHOY)

3auTeHo

«He 3auTeHO» BBICTABISETCA CTYACHTY IPU HAIMYUK MeHee 51 Oamos
[PEUTUHIOBOM LIKaJbl (3HAHUS COOTBETCTBYIOT TPEOOBAHUSIM OLIEHKU
(HEYJIOBJIETBOPUTEIHHOY)

He 3aureno




